



Republic of the Philippines
Department of Agriculture
BUREAU OF SOILS AND WATER MANAGEMENT
SRDC Building Elliptical Road corner Visayas Avenue,
Diliman, Quezon City 1101
customers.center@bswm.da.gov.ph
Tel. no. (632) 8273-2474 local 3202

NOTICE OF AWARD

JESUSA G. BAUTISTA
Proprietor
V-JECS Trading
2-B Lacsamana St., Quirino, Poro
San Fernando City, La Union

Dear Ms. Bautista:

We are pleased to inform you that your bid dated February 13, 2025 for the execution of the contract for the Re-Bid of Supply and Delivery of various Agricultural Inputs, supplies and materials for FY 2025- IB No. BSWM 2025-01-029 Lot 14 (PhP 539,140.00), Lot 16 (PhP 209,540.00), and Lot 19 (PhP 323,075.00) with a total Contract Price equivalent to One Million Seventy One Thousand Seven Hundred Fifty Five Pesos (PhP 1,071,755.00) undertaken through Public Bidding being the Single Calculated and Responsive Bid (SCRB) has been accepted.

LOT	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
14	SWRRDD: Seeds				
	SWRRD 2025-00-0024 LFP-NSHP				
	Rice Seeds - Certified, inbred, NSIC RC 222, 40 kg/bag	bag	22	2,495.00	54,890.00
	Delivery Terms: On-site delivery at Pasuquin, Ilocos Norte on June 17-20, 2025				
	Batch 1				
	Rice Seeds-Certified, inbred, NSIC RC 222, 40 kg/bag	bag	40	2,495.00	99,800.00
	Delivery Terms: Region 3 On-site delivery at San Jose City, Nueva Ecija on April 1-4, 2025				
	Batch 2				
	Onion seeds - Red Pinoy variety, 400 g/can Expiration date not earlier than March 2026	can	100	3,495.00	349,500.00











LOT	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
	Delivery Terms: On-site delivery at San Jose City, Nueva Ecija on August 26-29, 2025				
	Batch 3				
	Onion seeds - Red Pinoy variety, 400 g/can Expiration date not earlier than March 2026	can	10	3,495.00	34,950.00
	Delivery Terms: On-site delivery at Central Luzon State University, Nueva Ecija on August 26- 29, 2025			Subtotal	PhP 539,140.00

LOT	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
16	HILLPEZ: Seeds and Seedlings				
	HILLPEZ 2025-00-0020 NSHP- VEGETABLE				
	Tomato, Diamante Max F1, 200 seeds/pack, best until 2026	pack	500	397.00	198,500.00
	Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of April 2025				
	HILLPEZ 2025-00-0020 RD OTHER				
	Cucumber, Jackson F1 variety, 200 seeds/pack	pack	10	245.00	2,450.00
	Pole sitao, Pantastiko variety, 1 kg/pack	pack	2	3,295.00	6,590.00
	Tomato, Diamante Max variety, 200 seeds/pack	pack	10	200.00	2,000.00
	Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of April 2025			Subtotal	PhP 209,540.00



LOT	DESCRIPTION	UNIT	QTY	AMOUNT	TOTAL
19	HILLPEZ: Agricultural Supplies and				
	Materials				
	HILLPEZ 2025-00-0020 NSHP- VEGETABLE				
	Seedling tray, 104-holes, black	pcs	850	148.00	125,800.00
	Plastic vegetable crates, 53cm x 37cm X 31.5 cm, 2.5-3 cm thickness, green, heavy duty	pcs	25	695.00	17,375.00
	Plastic knapsack sprayer, 16 L capacity	unit	10	2,500.00	25,000.00
	V - twine, 3-ply nylon, black string (1 kg/roll),	roll	100	499.00	49,900.00
	V - twine, black string (1 kg/roll)	roll	100	399.00	39,900.00
	Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of April 2025				
	HILLPEZ 2025-00-0020 RD OTHER				
	Molasses, 10 kg/container	contai ner	4	715.00	2,860.00
	GI Tie Wire #16	kg	30	618.00	18,540.00
	V-twine (black string, 1 kg/roll)	rolls	15	425.00	6,375.00
	V-twine (black string, nylon, 1 kg/roll), 3 ply	rolls	15	385.00	5,775.00
	Seedling tray (50 holes/tray)	pcs	75	88.00	6,600.00
	Sampling bag (8 x 12 inches, makapal, 100 pc/pack)	packs	5	300.00	1,500.00
	Empty sack (plain, no print, 25 kg capacity)	pcs	500	29.00	14,500.00
	Effective Microorganism (EM-1, FPA Registered, 1L/bottle, Ingredients: Lactic Acid Bacteria, Yeast, Photosynthetic Bacteria, Actinomycetes and Beneficial Fungi)	bottle	10	895.00	8,950.00
	Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of April 2025			Subtotal	PhP 323,075.00
	Grand Total			PhP 1,0	71,755.00

Pursuant to Section 39.1 of the Implementing Rules and Regulations of Republic Act 9184, you are hereby required to **provide within ten (10) calendar days** from the receipt of this notice, a **Performance Security** and **signed Contract Agreement**. The Performance Security shall be denominated in Philippine Pesos and posted in favor of the Procuring Entity in an amount not less than the required percentage of the total contract price in accordance with the following schedule:

Form of Performance Security	Amount of Performance Security (Not less than the Percentage of the Total Contract Price)
(a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Five percent (5%)
(b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five percent (5%)
(c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security. Together with the surety bond, a copy of a valid Certification from Insurance Commission must be submitted by the bidder which must state that the surety or the insurance company is specifically authorized to issue surety bond.	Thirty percent (30%)

Failure to provide and comply the above-mentioned requirement shall constitute sufficient ground for the annulment of the award and forfeiture of the bid security.

Very truly yours,

Digitally signed by Nilo
Gina Parde
DN: cn=Nilo Gina Parde,
c=Bureau of Soils and
Nata Management,
ou=Office of the
Director, c=Pth
Denise Araullo

I acknowledge receipt of this Notice on: Name of the Representative of the Bidder: Authorized Signature: MAR 1 4 2025

EXHICIAN

Page 4 of 4

"Lupa't Tubig ay Pag-ingatan at Pangalagaan, Tungo sa Maunlad na Agrikultura at Kabuhayan."